
Running dictation – present simple and present continuos: 
 

1. The bird isn´t sitting in the tree, it´s flying out of the 
window. 

2. She doesn´t live in Žatec, she lives in Ostrava. 

3. They aren´t shaking hands, they´re looking at the 
sign. 

4. What answer do you have  for question number two? 

5. The men aren´t repairing the door, they´re painting 
the sign. 

6. I don´t know the answer, so I haven´t got  anything 
for that. 

7. Is he waiting for the lift? No, he isn´t. 

8. It´s a pity she isn´t in our class. 

9. Are you climbing the tree to look for  the jewels? 
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Running dictation – řešení 
 
1. Pupils get in pairs.  
2. One runs around the class, chooses one of the sentences and runs 
back to the partner to dictates him/her the sentence as long as the 
sentence is written down in full  on the given sheet of paper. 
3. Pupils take turns in writing and running. 
4. After the pupils have put down all the sentences, they start to 
translate them in Czech. 
5. The activity finishes after the first three pairs have finished the 
translation. 
 
 

 
1. Žáci pracují ve dvojicích. 
2. Jeden z nich běhá, vybere si větu vyvěšenou kdekoliv ve třídě a 

a diktuje ji tomu, co ji zapisuje pod daným číslem na pracovní 
list. 

3. Žáci se v běhání a psaní střídají. 
4. Když mají všechny věty, začnou je překládat. 
5. Aktivita končí, když první 3 dvojice mají hotový překlad. 

 
 
 
Aktivita trvá přibližně 20 minut. 
 
Slovní zásoba a gramatika vychází z učiva učebnice Project 3 ,3rd. edition,  introduction unit. 
 
 
 
 

 


